BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE SIENNA SECTION 69B
SIENNA MUNICIPAL UTILITY DISTRICT NO. 6
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
FEBRUARY 13, 2025
LIA ENGINEERING, INC.
C CORTEZ
FEBRUARY 13, 2025
1416-1569BP (9.2)

| BIDDER NAME | BASE BID | ALTERNATE BID NO. 1 PLUS BASE BID |
|---|----------------|-----------------------------------|
| 1) MB WESTERN CONSTRUCTION | \$902,856.80 | \$974,358.80 |
| 2) ELITE CONSTRUCTION AND ENGINEERING SERVICES, LLC | \$940,000.00 | \$1,080,968.50 |
| 3) MH2 CONSTRUCTION SERVICES, LLC | \$943,498.00 | \$1,015,000.00 |
| 4) R CONSTRUCTION CIVIL, LLC | \$1,004,440.00 | \$1,178,137.00 |
| 5) NORTHTEX CONSTRUCTION, LLC | \$1,053,018.75 | \$1,124,520.75 |

60/70

TYLER R. VOLK

150623

CENSED

NOVAL ENGEN

T Slewlall

2/13/202

I, TYLER VOLK, P.E., hereby certify these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES
TO SERVE SIENNA SECTION 69B
SIENNA MUNICIPAL UTILITY DISTRICT NO. 6
CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS
FEBRUARY 13, 2025
LIA ENGINEERING, INC.
C CORTEZ
FEBRUARY 13, 2025
1416-1569BP (9.2)

| | | | | 1) MB WESTERN CONSTRUCTION | | 2) ELITE CONSTRUCTO SERVIC | ON AND ENGINEERING ES, LLC | 3) MH2 CONSTRUCTION SERVICES, LLC | | 4) R CONSTRUCTION CIVIL, LLC | |
|------------------------------|---|------|-------|----------------------------|--------------|-------------------------------|-------------------------------|-----------------------------------|--------------|------------------------------|------------------|
| VO. | ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL |
| 1. METHOD "A | IPROVEMENT ITEMS (INTERNAL) - (SIENNA MUD NO. 6) " CONSTRUCTION STAKING BY THE CONTRACTOR PER JON Y, GBI PARTNERS, LP, 281.499.4539, COMPLETE IN PLACE | LS | 1 | \$5,865,00 | \$5,865.00 | \$6,500.00 | \$6,500.00 | \$5,865.00 | \$5,865.00 | \$5,865.00 | \$5,865.00 |
| | ONSTRUCTION STAKING BY THE CONTRACTOR PER JON Y, GBI PARTNERS, LP, 281.499.4539 | LS | 1 | \$3,500.00 | \$3,500.00 | \$4,500.00 | \$4,500.00 | \$3,500.00 | \$3,500.00 | \$3,500.00 | \$3,500.00 |
| | CED CONCRETE PAVEMENT POURED FULL-WIDTH WHERE ; (MISSOURI CITY SPECIFICATIONS), COMPLETE IN PLACE | SY | 10000 | \$52.00 | \$520,000.00 | \$52.00 | \$520,000.00 | \$53.53 | \$535,300.00 | \$55.00 | \$550,000.0 |
| | NFORCED MOUNTABLE CURB WITH POLYETHYLENE FIBERS, CITY SPECIFICATIONS), COMPLETE IN PLACE | LF | 3634 | \$4.30 | \$15,626.20 | \$3.40 | \$12,355.60 | \$4.18 | \$15,190.12 | \$5.00 | \$18,170.0 |
| 5. 6" REINFOR | CED CONCRETE CURB, (MISSOURI CITY SPECIFICATIONS), IN PLACE | LF | 2392 | \$4.30 | \$10,285.60 | \$4.80 | \$11,481.60 | \$4.18 | \$9,998.56 | \$5.00 | \$11,960.0 |
| 6. 8" LIME STA COMPLETE I | BILIZED SUBGRADE, (MISSOURI CITY SPECIFICATIONS), IN PLACE | SY | 11991 | \$4.50 | \$53,959.50 | \$3.50 | \$41,968.50 | \$4.51 | \$54,079.41 | \$7.00 | \$83,937.0 |
| | JBGRADE PREPARATION, (8% BY DRY WEIGHT), (44 LBS/SY), (TO ILY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | TON | 264 | \$330.00 | \$87,120.00 | \$374.00 | \$98,736.00 | \$362.00 | \$95,568.00 | \$340.00 | \$89,760.0 |
| EXCAVATION | OADWAY EXCAVATION TO BE USED FOR ONSITE FILL, INCLUDES N, HAULING, PLACING AND COMPACTION TO 95% STANDARD ENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE | СУ | 8355 | \$3.00 | \$25,065.00 | \$3.30 | \$27,571.50 | \$3.98 | \$33,252.90 | \$5.00 | \$41,775. |
| SITE FILL TO | AND COMPACTION OF ON-SITE STOCKPILE TO BE USED FOR ON- 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, ED BY ENGINEER), COMPLETE IN PLACE | CY | 20879 | \$2.50 | \$52,197.50 | \$3.70 | \$77,252.30 | \$3.98 | \$83,098.42 | \$5,00 | \$104,395. |
| | T TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, IS, STOP SIGNS, PAVEMENT STRIPING, MARKER, ETC., N PLACE | LS | 1 | \$4,500.00 | \$4,500.00 | \$16,940.00 | \$16,940.00 | \$12,538.00 | \$12,538.00 | \$9,200.00 | \$9,200. |
| | DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTON FOR FIRE DOCATION, COMPLETE IN PLACE | EA | 9 | \$18.00 | \$162.00 | \$62.00 | \$558.00 | \$18.00 | \$162.00 | \$15.00 | \$135. |
| 2. HAULING AN | ND PLACING OF ONSITE STRIPPING ON LOTS AND RESERVES, N PLACE | LS | 1 | \$5,000.00 | \$5,000.00 | \$13,660,00 | \$13,660.00 | \$7,988.00 | \$7,988.00 | \$4,100.00 | \$4,100. |
| SWMHCA SP | ON AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, PECIFICATION NO. 4711, (TO BE USED ONLY AS DIRECTED BY THE COMPLETE IN PLACE | EA | 1 | \$1,500.00 | \$1,500.00 | \$4,460.00 | \$4,460.00 | \$1,500.00 | \$1,500.00 | \$1,500.00 | \$1,500. |
| | SOURI CITY (COMC) CONSTRUCTION PERMIT FOR ION OF PAVING OF INTERNAL SECTION, COMPLETE IN PLACE | LS | 1 | \$10,000.00 | \$10,000.00 | \$18,400.50 | \$18,400.50 | \$13,298.00 | \$13,298.00 | \$9,900.00 | \$9,900. |
| 5. PROVIDE SU IN PLACE | BDIVISION BOND IN THE AMOUNT OF \$217,869.40, COMPLETE | LS | 1 | \$6,000.00 | \$6,000.00 | \$8,340.00 | \$8,340.00 | \$4,857.00 | \$4,857,00 | \$3,500.00 | \$3,500. |
| 6. FINAL LOT G PLACE | RADING OF 90 LOTS AND ADJACENT RESERVES, COMPLETE IN | LS | 1 | \$25,000.00 | \$25,000.00 | \$24,590.00 | \$24,590.00 | \$26,070.99 | \$26,070.99 | \$21,000.00 | \$21,000.0 |
| | SLEEVE, 6" PVC SCHEDULE 40, INCLUDES RISERS AND ALL URTENANCES, COMPLETE IN PLACE | LF | 119 | \$40.00 | \$4,760.00 | \$30.00 | \$3,570.00 | \$39.20 | \$4,664.80 | \$55.00 | \$6,545.0 FRN |

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SIENNA SECTION 69B SIENNA MUNICIPAL UTILITY DISTRICT NO. 6 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS FEBRUARY 13, 2025 LIA ENGINEERING, INC. C CORTEZ FEBRUARY 13, 2025 1416-15598P (9.2)

| | | | 1) MB WESTERN | CONSTRUCTION | 2) ELITE CONSTRUCTION SERVICE | | 3) MHZ CONSTRUCT | ON SERVICES, LLC | 4) R CONSTRUC | TION CIVIL, LLC |
|---|------|-------|---------------|--------------|-------------------------------|--------------|------------------|------------------|---------------|-----------------|
| NO. ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL |
| 18. CONNECT PROPOSED 6" PAVEMENT TO EXISTING 6" PAVEMENT AND DOWEL INTO EXISTING CONCRETE PAVEMENT AND UNDERCUT, AND ANY OTHER APPURTENANCES, COMPLETE IN PLACE | LF | 56 | \$55.00 | \$3,080.00 | \$79.00 | \$4,424,00 | \$58.00 | \$3,248.00 | \$60.00 | \$3,360.00 |
| 19. FORT BEND COUNTY RIGHT OF WAY PERMIT FOR TIE INTO EXISTING RIGHT OF WAY, COMPLETE IN PLACE | LS | 1 | \$500.00 | \$500.00 | \$5,470.00 | \$5,470.00 | \$500,00 | \$500,00 | \$500.00 | \$500.00 |
| 20. PROPOSED TYPE III BARRICADE, COMPLETE IN PLACE | EA | 1 | \$1,000.00 | \$1,000.00 | \$1,560.00 | \$1,560.00 | \$500,00 | \$500.00 | \$1,200.00 | \$1,200.00 |
| 21. WHEELCHAIR RAMPS AS PER COMC DETAIL, ALL SIZES, INCLUDING TRUNCATED DOME PAVER AS NOTED IN CONSTRUCTION PLAN SET, COMPLETE IN PLACE | EA | 16 | \$1,500.00 | \$24,000.00 | \$1,797.00 | \$28,752.00 | \$1,668.00 | \$26,688.00 | \$2,000.00 | \$32,000.00 |
| 22. PAVING HEADER, AS PER CITY OF MISSOURI CITY CRITERIA, COMPLETE IN PLACE | LF | 28 | \$12.00 | \$336.00 | \$98.00 | \$2,744.00 | \$56.00 | \$1,568.00 | \$30.00 | \$840.00 |
| 23. REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE | EA | 2 | \$100.00 | \$200.00 | \$275.00 | \$550,00 | \$1.00 | \$2,00 | \$1.00 | \$2.00 |
| 24. CONTRACTOR TO DEMUCK TO 3 FOOT DEPTH AND SCARIFY AND PROOF ROLL EXISTING SWALE, COMPLETE IN PLACE | SY | 216 | \$200.00 | \$43,200.00 | \$26.00 | \$5,616.00 | \$18.80 | \$4,060.80 | \$6.00 | \$1,296.00 |
| SUBTOTAL BASE BID PAVING IMPROVEMENT ITEMS (INTERNAL) - (SIENNA MUD NO. | 6) | | _ | \$902,856.80 | | \$940,000.00 | - | \$943,498.00 | - | \$1,004,440.00 |
| ASE BID MISCELLANEOUS ITEMS | | | | AK | | | | | | 42,0007,770.00 |
| STANDARD DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER ON BEHALF OF THE CONTRACTOR, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0,00 | -\$1,000.00 | \$0,00 | -\$1,000,00 | \$0,00 |
| STANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), COMPLETE IN PLACE | HR | 0 | \$125.00 | \$0.00 | -\$125.00 | \$0.00 | -\$125.00 | \$0,00 | -\$125.00 | \$0.00 |
| STANDARD DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE CONTRACTOR, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 0 | -\$10.00 | \$0.00 | -\$10.00 | \$0.00 | -\$10,00 | \$0,00 | -\$10,00 | \$0.00 |
| STANDARD DEDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 | -\$1,000.00 | \$0.00 |
| 5. FORT BEND COUNTY CONSTRUCTION COMPLETION AND FINAL ACCEPTANCE INSPECTION FEES, COMPLETE IN PLACE | EA | 0 | -\$500.00 | \$0.00 | -\$500.00 | \$0.00 | -\$500.00 | \$0.00 | -\$500,00 | \$0.00 |
| UBTOTAL BASE BID MISCELLANEOUS ITEMS | | | | \$0.00 | - | \$0.00 | - | \$0.00 | · | \$0.00 |
| LTERNATE BID NO. 1 FIELD CONDITIONS ITEMS 1. ADDITIONAL 8" LIME STABILIZED SUBGRADE (MISSOURI CITY | SY | 11991 | £2.00 | f22 002 00 | | | | | | V 5.55 |
| SPECIFICATIONS) TO BE USED FOR UNSTABLE SOIL CONDITIONS AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | 31 | 11331 | \$2.00 | \$23,982.00 | \$3.50 | \$41,968.50 | \$2.00 | \$23,982,00 | \$7.00 | \$83,937.00 |
| ADDITIONAL LIME FOR SUBGRADE PREPARATION (8% BY WEIGHT) (44 LBS/YD), TO BE USED FOR UNSTABLE SOIL CONDITIONS AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | TON | 264 | \$180.00 | \$47,520.00 | \$375.00 | \$99,000.00 | \$180.00 | \$47,520.00 | \$340.00 | \$89,760.00 |
| UBTOTAL ALTERNATE BID NO. 1 FIELD CONDITIONS ITEMS | | | - | \$71,502.00 | _ | \$140,968.50 | | \$71,502.00 | - III- | \$173,697.00 |

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SIENNA SECTION 69B SIENNA MUNICIPAL UTILITY DISTRICT NO. 6 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS FEBRUARY 13, 2025 LIA ENGINEERING, INC. C CORTEZ FEBRUARY 13, 2025 1416-1569BP (9.2)

| | | | | RN CONSTRUCTION | | ION AND ENGINEERING ICES, LLC | 3) MH2 CONSTRU | CTION SERVICES, LLC | 4) R CONSTRU | CTION CIVIL, LLC |
|----------------------|--|----------|-----------|-----------------|-----------|----------------------------------|----------------|---------------------|--------------|------------------|
| NO. BID SUMMARY | ITEM DESCRIPTION | UNIT QTY | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL | UNIT COST | TOTAL |
| | | | | | | | | | | |
| BASE BID PAVING IMP | PROVEMENT ITEMS (INTERNAL) - (SIENNA MUD NO. 6 | i) | | \$902,856.80 | | \$940,000.00 | | \$943,498.00 | | \$1,004,440.00 |
| BASE BID MISCELLANE | EOUS ITEMS | | | \$0.00 | | \$0.00 | | \$0.00 | | \$0.00 |
| TOTAL AMOUNT BASE | EBID | | | \$902,856.80 | | \$940,000.00 | | \$943,498.00 | | \$1,004,440.00 |
| ALTERNATE BID NO. 1 | | | | | | | 0 | | | |
| TOTAL AMOUNT BASE | BID | | | \$902,856.80 | | \$940,000.00 | | \$943,498.00 | | \$1,004,440.00 |
| FIELD CONDITIONS ITE | EMS | | | \$71,502.00 | | \$140,968.50 | | \$71,502.00 | | \$173,697.00 |
| TOTAL ALTERNATE BIE | D NO. 1 PLUS BASE BID | | | \$974,358.80 | - 1 | \$1,080,968.50 | | \$1,015,000.00 | | \$1,178,137.00 |
| | | CI | 12 | \$974,358.80 | | | | | | |

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SIENNA SECTION 69B SIENNA MUNICIPAL UTILITY DISTRICT NO. 6 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS FEBRUARY 13, 2025 LIA ENGINEERING, INC. C CORTEZ FEBRUARY 13, 2025 1416-15598P (9.2)

| | | | | 5) NORTHTEX CON | STRUCTION, LLC |
|-----|--|------|-------|-----------------|----------------|
| NO. | ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL |
| | ID PAVING IMPROVEMENT ITEMS (INTERNAL) - (SIENNA MUD NO. 6) 1. METHOD "A" CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARTNERS, LP, 281.499.4539, COMPLETE IN PLACE | LS | 1 | \$5,865.00 | \$5,865.00 |
| 2 | 2. AS BUILT CONSTRUCTION STAKING BY THE CONTRACTOR PER JON BORDOVSKY, GBI PARTNERS, LP, 281.499.4539 | LS | 1 | \$3,500.00 | \$3,500.00 |
| 3 | 3. 6" REINFORCED CONCRETE PAVEMENT POURED FULL-WIDTH WHERE APPLICABLE, (MISSOURI CITY SPECIFICATIONS), COMPLETE IN PLACE | SY | 10000 | \$57.00 | \$570,000.00 |
| 4 | 4" X 12" REINFORCED MOUNTABLE CURB WITH POLYETHYLENE FIBERS, (MISSOURI CITY SPECIFICATIONS), COMPLETE IN PLACE | LF | 3634 | \$5.05 | \$18,351.70 |
| 5 | 6" REINFORCED CONCRETE CURB, (MISSOURI CITY SPECIFICATIONS), COMPLETE IN PLACE | LF | 2392 | \$5.05 | \$12,079.60 |
| 6 | 5. 8" LIME STABILIZED SUBGRADE, (MISSOURI CITY SPECIFICATIONS), COMPLETE IN PLACE | SY | 11991 | \$4.15 | \$49,762.65 |
| 7 | LIME FOR SUBGRADE PREPARATION, (8% BY DRY WEIGHT), (44 LBS/SY), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | TON | 264 | \$395.00 | \$104,280.00 |
| 8 | 8. COMMON ROADWAY EXCAVATION TO BE USED FOR ONSITE FILL, INCLUDES EXCAVATION, HAULING, PLACING AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, COMPLETE IN PLACE | СҮ | 8355 | \$6.50 | \$54,307,50 |
| 9 | P. PLACEMENT AND COMPACTION OF ON-SITE STOCKPILE TO BE USED FOR ON- SITE FILL TO 95% STANDARD PROCTOR DENSITY WITH MAXIMUM 8" LIFTS, (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE | СУ | 20879 | \$6.20 | \$129,449.80 |
| 10 | D. PERMANENT TRAFFIC CONTROL DEVICES, INCLUDING TRAFFIC BUTTONS, STREET SIGNS, STOP SIGNS, PAVEMENT STRIPING, MARKER, ETC., COMPLETE IN PLACE | LS | 1 | \$7,550.00 | \$7,550.00 |
| 11 | . 4" SQUARE DOUBLE REFLECTORIZED BLUE TRAFFIC BUTTON FOR FIRE HYDRANT LOCATION, COMPLETE IN PLACE | EA | 9 | \$12.50 | \$112.50 |
| 12 | 2. HAULING AND PLACING OF ONSITE STRIPPING ON LOTS AND RESERVES, COMPLETE IN PLACE | LS | 1 | \$6,350.00 | \$6,350.00 |
| 13 | I. INSTALLATION AND REMOVAL OF STABILIZED CONSTRUCTION EXIT, SWMHCA SPECIFICATION NO. 4711, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 1 | \$4,150.00 | \$4,150.00 |
| 14 | CITY OF MISSOURI CITY (COMC) CONSTRUCTION PERMIT FOR CONSTRUCTION OF PAVING OF INTERNAL SECTION, COMPLETE IN PLACE | LS | 1 | \$17,000.00 | \$17,000.00 |
| 15 | PROVIDE SUBDIVISION BOND IN THE AMOUNT OF \$217,869.40, COMPLETE IN PLACE | LS | 1 | \$6,300.00 | \$6,300.00 |
| 16 | . FINAL LOT GRADING OF 90 LOTS AND ADJACENT RESERVES, COMPLETE IN PLACE | LS | 1 | \$18,000.00 | \$18,000.00 |
| 17 | . IRRIGATION SLEEVE, 6" PVC SCHEDULE 40, INCLUDES RISERS AND ALL OTHER APPURTENANCES, COMPLETE IN PLACE | LF | 119 | \$32.00 | \$3,808.00 |

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LIA JOB NO. CONSTRUCTION OF THE PAVING AND APPURTENANCES TO SERVE SIENNA SECTION 69B SIENNA MUNICIPAL UTILITY DISTRICT NO. 6 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS FEBRUARY 13, 2025 LIA ENGINEERING, INC. C CORTEZ FEBRUARY 13, 2025 1416-15698P (9.2)

| LIA JOB NO. | | | 1 | 416-1569BP (9.2) | |
|-------------|--|------|-------|------------------|----------------|
| | | | | 5) NORTHTEX CON | STRUCTION, LLC |
| NO. | ITEM DESCRIPTION | UNIT | QTY | UNIT COST | TOTAL |
| | CONNECT PROPOSED 6" PAVEMENT TO EXISTING 6" PAVEMENT AND DOWEL INTO EXISTING CONCRETE PAVEMENT AND UNDERCUT, AND ANY OTHER APPURTENANCES, COMPLETE IN PLACE | LF | 56 | \$60.00 | \$3,360.00 |
| 19 | 9. FORT BEND COUNTY RIGHT OF WAY PERMIT FOR TIE INTO EXISTING RIGHT OF WAY, COMPLETE IN PLACE | LS | 1 | \$500.00 | \$500.00 |
| 20 | D. PROPOSED TYPE III BARRICADE, COMPLETE IN PLACE | EA | 1 | \$1,500.00 | \$1,500.00 |
| 21 | WHEELCHAIR RAMPS AS PER COMC DETAIL, ALL SIZES, INCLUDING TRUNCATED DOME PAVER AS NOTED IN CONSTRUCTION PLAN SET, COMPLETE IN PLACE | EA | 16 | \$1,800.00 | \$28,800.00 |
| 22 | 2. PAVING HEADER, AS PER CITY OF MISSOURI CITY CRITERIA, COMPLETE IN PLACE | LF | 28 | \$51.00 | \$1,428.00 |
| 23 | 3. REMOVE AND DISPOSE OF EXISTING TYPE III BARRICADE, COMPLETE IN PLACE | EA | 2 | \$150.00 | \$300.00 |
| 24 | CONTRACTOR TO DEMUCK TO 3 FOOT DEPTH AND SCARIFY AND PROOF ROLL EXISTING SWALE, COMPLETE IN PLACE | SY | 216 | \$29.00 | \$6,264.00 |
| SUBTO | TAL BASE BID PAVING IMPROVEMENT ITEMS (INTERNAL) - (SIENNA MUD NO. | . 6) | | | \$1,053,018.75 |
| | ID MISCELLANEOUS ITEMS | | | | |
| 1 | STANDARD DEDUCT FOR VARIANCE REQUESTS SUBMITTED BY THE ENGINEER ON BEHALF OF THE CONTRACTOR, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0,00 |
| 2 | STANDARD DEDUCT FOR STREET CLEANING (AS DIRECTED BY THE OWNER), COMPLETE IN PLACE | HR | 0 | -\$125.00 | \$0.00 |
| 3 | B. STANDARD DEDUCT FOR DAMAGE TO WETLANDS FENCING BY THE CONTRACTOR, (AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | LF | 0 | -\$10.00 | \$0.00 |
| 4 | I. STANDARD DEDUCT FOR DAMAGE TO TREE MARKED FOR PRESERVATION, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE | EA | 0 | -\$1,000.00 | \$0.00 |
| 5 | 5. FORT BEND COUNTY CONSTRUCTION COMPLETION AND FINAL ACCEPTANCE INSPECTION FEES, COMPLETE IN PLACE | EA | 0 | -\$500.00 | \$0.00 |
| SUBTO | TAL BASE BID MISCELLANEOUS ITEMS | | | | \$0.00 |
| | IATE BID NO. 1 FIELD CONDITIONS ITEMS I. ADDITIONAL 8° LIME STABILIZED SUBGRADE (MISSOURI CITY SPECIFICATIONS) TO BE USED FOR UNSTABLE SOIL CONDITIONS AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | SY | 11991 | \$2.00 | \$23,982.00 |
| 2 | 2. ADDITIONAL LIME FOR SUBGRADE PREPARATION (8% BY WEIGHT) (44 LBS/YD), TO BE USED FOR UNSTABLE SOIL CONDITIONS AS DIRECTED BY THE ENGINEER, COMPLETE IN PLACE | TON | 264 | \$180.00 | \$47,520.00 |
| SUBTO | TAL ALTERNATE BID NO. 1 FIELD CONDITIONS ITEMS | | | | \$71,502.00 |

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: **TABULATION DATE:** LIA JOB NO.

CONSTRUCTION OF THE PAVING AND APPURTENANCES **TO SERVE SIENNA SECTION 69B** SIENNA MUNICIPAL UTILITY DISTRICT NO. 6 CITY OF MISSOURI CITY, FORT BEND COUNTY, TEXAS **FEBRUARY 13, 2025** LIA ENGINEERING, INC. C CORTEZ FEBRUARY 13, 2025 1416-1569BP (9.2)

| LIA JOB NO. | | | FEBRUARY 13, 2025 1416-1569BP (9.2) | | |
|---|------|-----|--|------------------|--|
| | | | 5) NORTHTEX C | ONSTRUCTION, LLC | |
| NO. ITEM DESCRIPTION BID SUMMARY | UNIT | QTY | UNIT COST | TOTAL | |
| BASE BID PAVING IMPROVEMENT ITEMS (INTERNAL) - (SIENNA MUD NO. 6) | | | | \$1,053,018.75 | |
| BASE BID MISCELLANEOUS ITEMS | | | | \$0.00 | |
| TOTAL AMOUNT BASE BID | | | | \$1,053,018.75 | |
| | | | | | |
| ALTERNATE BID NO. 1 | | | | | |
| TOTAL AMOUNT BASE BID | | | | \$1,053,018.75 | |
| FIELD CONDITIONS ITEMS | | | | \$71,502.00 | |
| TOTAL ALTERNATE BID NO. 1 PLUS BASE BID | | | | \$1,124,520.75 | |
| | | | | | |